
 

 

ЕГЭпроф 2023.  Тренировочный вариант № 03. Ответы 
 

Задание 1 2 3 4 5 6 

ответ 40 48 0,35 0,81 11 3 

 

Задание 7 8 9 10 11 

ответ 2 18 70 15 4 

 

Задание 12 13 14 15  17 

ответ 
а) 1; 1,5 

б) 1,5 

а) –  

б) 
17

arctg
8

 

См. 

  
3  −  (  ; 2] [6; + )  

 

Задание 14 

ответ − −  − −    (  ; 2) ( 2; 1] {0} [1; 2) ( 2; + )  

 

 

 

ЕГЭпроф 2023.  Тренировочный вариант № 04. Ответы 
 

Задание 1 2 3 4 5 6 

ответ 30 56 0,45 0,82 10 2 

 

Задание 7 8 9 10 11 

ответ –1 12 80 15 6 

 

Задание 12 13 14 15  17 

ответ 
а) 1; 1,5 

б) 1 

а) –  

б) 
5

arctg
3

 

См. 

  
2  − −  (  ; 1] [5; + ) 

 

Задание 14 

ответ − −  − −    (  ; 2) ( 2; 1] {0} [1; 2) ( 2; + )  

 

 

 

 

 


